
BUELL XB9/12 R/S
FRONT + REAR AXLE SLIDERS
part# B-XB9AS-F / B-XB9AS-R

 FLANGE LOCK NUT M6
 [FLNT-6]   (pre-tightened)

satoracing.com

(B-XB9AS-F)FRONT

(B-XB9AS-R)REAR

BOLT 270mm

BOLT 400mm

SLIDER PUCK
[SDR-S2]

SLIDER PUCK
[SDR-S2]

 FLANGE LOCK NUT M6
 [FLNT-6]   (pre-tightened)

 FLANGE LOCK NUT M6
[FLNT-6]

PLAIN NUT M6
[NUT-6]

PLAIN NUT M6
[NUT-6]

L R

L R

 FLANGE LOCK NUT M6
[FLNT-6]

SLIDER PUCK
[SDR-S2]

SLIDER PUCK
[SDR-S2]


